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Note: All questions are compulsory. Marks are indicated against each question in square brackets,
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Q.1. How to determine the wedge angle; derive the formula and explain with the help o ﬁpﬁp é diagram?
Why the fringe at apex is dark in the wedge shaped film? égc[ '9 IR Aﬁrks: 37

Q.2. How to determine the wavelength of light and refractive index of liqujd usi%&ﬁNeMon’s ring
experimental setup, derive the required equations and explain how to performdh%}; eriment?
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<« CO: 2, 5; Marks: 3]

Q.3. What is the difference between single slit and double slit d%ﬁi%og%ind out the equations for

missing orders in case of double diffraction grating for a=b, 2a=2§a~ b3 [CO: 2; Marks: 3]
o B %
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Q.4. For N-slit diffraction grating what is the dispersivgg@ﬁ@%gg}ﬁfix}ing powers. Discuss and write the
ations witl explanation, Gy P CO: 2; Marks: 3
equations with proper explanation t_;% ‘t%%"«f@%? [ arks: 3]
Q.5. Define the following: g ‘ xsgff [CO: 1, 2; Marks.: 2]
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1. Plane of vibration and Polarization @{%@ )
b. Double refraction 7 %:\@%’%W

Q.6. In Newton’s ring experiﬁent@%ﬁ v 11}%3 the order of the dark ring which will have double the
diameter of that of 15™ dark ring. i?f%&@%@*ength of the light used is 500 nm. [CO: 5; Marks: 1.5]

p berformed with the source of light having two wavelengths A, = 600
nm and A, = 500 nm. Itg 6gﬁat the n™ dark ring due to A; coincides with (k1) dark ting due to A,
If the radius of cur\gg %f‘zé;%%f‘tl}égplano convex lens is 100 cm, find the diameter of the nil dark ring for A,
R A & [CO:2, 5; Marks: 2.5]
Q.8. Izéi_ght ?f%%ay%}eﬁgh 500 nm falls normally on a thin wedge shaped film of refractive index 1.6

for‘%iffgm?f‘%ngeﬁh&% are 3 mm apart. Find the angle of the wedge. [CO: 5; Marks: 2]
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Q.9, ﬁ“g@t of wavelength 600 nm falls normally on a plane transmission grating having 20,000 lines in 4

cm, find the angle of diffraction for maximum intensity in 2™ order. [CO: 2, 5; Marks: 2.5]

Q.10. A grating has 8000 lines per cm drawn on it. If its width is 8 cm, Compute the following;
(i) The resolving power in 2" order.
(ii) The smallest wavelength that can be resolved in the third order in 600 nm region.

CO: 5; Marks: 2.5



